


Statement:
1) all dark is night
2) Some dark are black

Conclusion:

1) All black is night
2) Some black is not night

B
; 1) W9 3R A B
e‘n‘“a 2) BB IERT BlclT B
frep:
1) ¥ Blell T &
2) BB Bl I &l 8

(a)Only 1
(b)Only 2

(_4c]Either 1 or 2

(d)None of these




Statement:
1) All crops are threads
2) Some threads are nozzles
3) No nozzle is room
4) All rooms are homes

Conclusion:

) Some homes are crops

2) Some rooms are threads p
3) No home is crop

W 4) Some threads are not room

Eifhon & o
1) T4 B G 8

:IOYE_ E 2) B 1 A 8

3) BIS Ao ©F el 8
4) I8 PR R B




fApy:

1) $B T B o

2) B TN G §

3) PIg R B T &
4) B IS 1 T8l ©

(a) Only III follows

\_~170nly Either I or III and IV follows
(c)Only IV follows
(d)None of these



Statement:
L>2A2CK=Y<CH>D<KA>E<Y
Conclusion:

3) L>Y
(a) All follows

Wither I or II follows
(c)Only III follows

(d)Only II and III follows



In which of following expression
will ‘R < P’ does not hold true?

h_——
ferferRad & 4 o st & R < P’
AR &l BRI?

(Q)R<T=M<P<S
b)T>Q=P>L>M=R
(c)M<P=S>Q=R

V}ﬂ‘fP{TZS=02R=K

®



14:112::18:7?
(a) 162
(b) 148

1Y% (Hu) c) 180
A



P@Q = ¢ P is mother of Q’

P+Q = ¢ P is wife of Q’

P$Q = ¢ P is brother of Q’

P%Q = ¢ P is father of Q’

P&Q = ‘ P is husband of Q’

Which of the following means A is
mother- in - law of D ?

PaQ =P, Q @ Al &

P+Q='P.Qﬁtﬁ-ﬁ%’

P$Q='P, Q HI ¥ &

(/ P%Q = ‘P, Q &I far &’
A+M%L+D -,

HBSAGD%KsQ o0 =P QI WIS

c)A@T+N%D¢$L f=foRed & & foger af 8 f&5 A, D
A+H%M$K%D 7 arg 7



Select the correct combination of
mathematical signs to sequentially
replace the % signs and to balance

the equation.
[{(32%28)%(6%4)}%(1%T7)]%5%20
k-

% fagl @ HhF I ¥ Feaq iR
TR B gferd & @ forg TR
forel &1 wal |ae g |

[1(32%28)%(6%4)}%(1%T7)]%S5%20
x — )( )( +, =
Xh)x -+, X, +, X,

@'— +, X, +, X, X, =
"’Ta)_: +, X, x: Xy Xy =
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(7, 11, 72)

(S, 8, 39)

is similar to;
(a)(2, 3, 1)
(b)(S, 2, 23)

AC) (4, 7, 33)

(d)(S, 6, 13)



By interchanging the given two
signs and numbers which will be

correct?
(+ and =) , (7 and 6)

few v < Rl 3R SRl o oy A
9Co1 TR DIF AT Gel BITT?
(+ 3R -), (7 3R 6)

Xla)7-6x3+4+1 = 8
)7x2-6+4+2 = 13
Xc]8x7+5+1—6 =17

(AD4XT+6-3+1 = 20



If South-East is called east, North-
West is called West, South-West is
called South, and so on, then which
is called North?

e <fo-gd H gd FHE W,
SIR—URRT® &I UlleH  $Hal W,
cfero—uf¥=q @1 3f@or H8r WY, SIS,
ar SR 69 Her Sre?

(a)South - East / Sf&oT — ‘ﬁ

L/aﬂ'ﬁrth-East/ 9N — @

(c)East / 4d
(d)South/ <feror




If a clock indicates 6:00, in this
time if minute hand indicates in
east direction, after some time that
clock shows 9:15, so hour hand
indicates in which direction?

Ifd TP °SI H 6:00 g9 &I Gbd fAardl

g, 39 WY O} e & g3 qd faum #

T Fclt 8, O P WY 9] 98 HS

®I 3RIT BT 87

orth - East / 3xI¥— tj\'qc

\J(‘::':outhla'm

{c)North/Ef%’“T

(d)North - West/ STR— UftgH



1)

Six person- L, M, N, P, R and S are
sitting around a triangular table.
Three of them sit at the corner of
the table and three of them are
sitting at the middle of the side.
Three of them facing center and
three of them facing outward of the
table.

N sits at corner seat and faces
center. Only one person sit b/w R
and N. P and R are immediate
neighbour but none of them sits at
immediate seat of N. S sits second
to the left of R. N sits at immediate
right corner of S. L faces inside. M,
who is an immediate neighbour of R
sits second to the right of P.

Who is second-right of M?



AL

B8 &fth— L, M, N, P, R 3R S U&
P 39 @ IR IR 95 €1 S99 9
9 A9 @ B9 IR 93 § 3R S 9 I
A6 P 72 A 90 B | S | dIF &1 g@
% D ARBIR AT T g@ a9 &
qTER P 3R 2|

1) N B9 91l ¥ )R 997 & 3R SH@T
qE &% P! IR 8| RIR N & 99 dal
Us Afp 99T 2| P 3R R Adpcaq gsih
g ofps S8 9§ &1 N N & FApean
e IR 98] 9d1 81 S, R P 13 3R
TN WM W 93T B | N,S & g QI
HM R 90T 8| L & & <X B 3R

(B)N 3| M, ' R FT Fipedd TSR 2 P

(c)S

T 9 T WM W) 99T B

(AP M3 ¢ d R ¥ R BN 27



Statement:
Any young man, who makes dowry
as a condition for marriage,
discredits himself and dishonours
womanhood.

Conclusion:
Those who take dowry in marriage

should be condemned by society.

/ Those who do not take dowry in
marriage respect woman hood

HY-.
®1g AN Jap, WY faars @ fog <23 @
I §IGT B, WY D 4G Bl B 3R
ARIT BT ST BT & |
fAspy:
(a)Only I follows 1) faTe ¥ T2 oF ATl @ WIS ERT
(b)Only II follows ey 55 ST =Ry |

AMBoth follows ) G vy wrct # <der 7 <, & T
(d)Neither follows 1 gy ovy &




(a)

(b)

(c)

QOO0

Choose the venn diagram which best

illustrates the given
[River, canal, Perennial sources of

Water]

98 99 NG g1 ot Ry 1Y 1 wew
3BT TN &
(=I'cﬂ.=|3'x',$mm)




Statement: “we offer the best
training in the field of computers” -
an advertisement.

Assumptions:

People are interested in getting
aining in computers.

People want the best training

BT "B PYCX b &F H HarRH HIREIOT

Y B & — U fasig |

RO

1) ST HYeX H TR 0T o= H B

& B |

2) SRT Hafq HfReor 9Ed 8

(a)only I implicit

\_?)Both implicit
(c)only II implicit
(d)Neither




In a certain language MOSAIC is
coded as 4768 and USEFUL is coded
as 4542. How will FLYING be coded?

U5 fAf¥Ed 9T MOSAIC &I 4768 & WU

MOSHIC— ¥ $fea frr T & R USEFUL @
4542 & WU ¥ difed fear AT B
FLYING & &9 difed fdar Sre?
,3 IYH\'_i_B__ (a) 3946 \ 4 4351
I (c) 3044 (d) 4353

[
Y RS o EYIvG,
o 43 §



In certain code language, ‘he was
invited ¢ is written as ‘nu vu du’.
‘She invited them’ is written as ‘hu
du ru’ and ‘she was there’ is written
as ‘tu vu ru’. How will ‘there’ be
written in that language?

U A9 $c W ¥, ‘he was invited’
@ ‘nu vu du’ for@r W@T 81 ‘She
invited them’ @ ‘hu du ru’ ® w7 §
for@ar WA 8 3R ‘she was there’ &I
‘tu vu ru’ ® WY ¥ for@r & g1 S9
WTST H ‘there’ 4 for@r SIgam?

)< (a) ru (b) tu

X (c) vu X(d) du



32:35:34:7: 36: 243

(a) 215 (b) 108

(c) 91 (d) 37
PrZ ),
o294



Pointing towards a man Jashua said,
“He is the father of my father’s

brother’s wife’s son’s sister. “ How is
that man related to Jashua?

Tdh 3T B AN FART Hd §Y o7
7 FEl, 98 W T & 415 9 o B oS
@ 98 &1 fUar 8| 98 el Wy |
Y Hdfed &?

(a) Father

(b) Father’s Father



\N

(

60

(

N>0>M7 P>Q A

O>T

®

(a) 60 kg

\_Jer 75 kg

L

(b) 100 kg
(d) 120 kg

M, N, Oh P, Q and T are having
different weights. P is heavier than
only 2 persons. Q is the person
heavier than T and lighter than P. O
is less than only N in weight. The 3
heaviest weight is 100 kg and 5t
heaviest weight is 60 kg. What is
possible weight of P?

M, N, O, P, Q 3R T &I duH
T3NS 8| P Dacl 2 ARG | I
21 Q, T W 9! 3R P ¥ &cpr aAufth 2|
O &1 999 ®ad N ¥ &9 & | JaxT 9ed
WRI g9 100 fhaum™ 8 3R 5 @ a9
IR 9o 60 fhaum 8| P &1 GHifaa
qoi fohaer 87



6 Books-English, Hindi, Science,
computer, Math’s and Sanskrit.
Each contain different number of
pages. Computer book contains
fewer pages than only two books.
English book contains more pages
than science book but less than
Sanskrit book. Science book does
not contain least pages. Sanskrit
book contains fewer pages than
Hindi book. The book which contain
third lowest pages contain 28 pages.
How many books contain more

pages than Science book?



6 Jera—3iusl, i), fasm, ser, e
AR A 8| TAD H JeT—3elT Gl
i U9 | YR Td § Padt < JEdi
& G ¥ B9 IS §| FUSH B fobare
¥ s @t frae & o ¥ e s
g qfd W¥hd d fhard o o H HH
US 3| O o (s 4 &9 @ $H 7=
T8 B | Wpd o fhae # Ry @
g § &9 U9 B 8| IR We 9
U6l dren fhae # 28 U9 B fda

qd H fagH B gwe | IR U
87

(a) 1 (b) 2
(c) 3 4



o —40 InarowX is 14" from left end and y
2560 is 26t from right end. If there are

(4 rd
% of total person b/w them, then
T

find the total number of person?
UF Ufth § X 91U BR ¥ 144 N W 8
IR Y T BR ¥ 26 § WM | 8| AR

(11'[1\1

ST 49 §d @ARp @ § g,

\Y
Afthdl D Bl HE&IT F1d DIOTY2
(a) 55 Uby'60 @
(c) 40 (d) None of these




Statement:
hY.
R<M<C;
C=D>E<F
Conclusion:

(b) Only conclusion 2 is true
(c) Both true
(d) Neither I nor II



N $ M = N is greater than M.
N @M = N is either greater than or
equal to M.
N # M = N is either smaller than or
equal to M.
N % M = N is neither smaller than nor
greater than M,

N$M=N MY g 2|

SZT>UZV:M N@M=N, MY I Al 5T 8 I IS9P

§RER B |
N#M=N, MY I d BT & 97 99
'/u §RIER T |
T7 T N%M=N,M% T dl BT & 3R T &
9T B |
S? V Statement:
h:
(a) only I follows 2?:;;:&11:@ V, V%W

(b) Both follows forspe:
only conclusion II follow ;) 7.y Y

(d) Neither WSSV



The post office is to the east of the
school while my house is to the
south of the school. The market is
to the north of the post office. If the
distance of the market from the post
office is equal to the distance of my
house from the school, in which
direction is the market with respect
to my school?

SIHER @A @ Jd H ® Tefd WX R
o @ SR H 8| I9R SIHER b IR
§ 3 AR TFER W IOR B
W R B QP REK &, a N G
o ey ¥ qoiR fea feem # 87 @
(a) south-west q-m/North-east

(c) north (d) East







